11282552 SHE=Z s

4k JRESR e BHE BRI 28 WEDE
701 04 S04 e=L7 52.1 27.5
701 05 S0 (2 40 48
701 05 208 G=t7) 56.7 52.5
701 07 =[o}:]) B 32 38.5 55
701 07 =[0}:] g[8 447 32
701 07 =[o}:]) TS 59.2 45
701 07 =[0}:] ih 38 59.2 45
701 07 =[o}:]) NS 56.7 45
701 07 =[0}:] a7 40.5 32.5
701 08 HOWE B 32 495 65
701 08 HOE g[8 40.7 32
701 08 HOWE £ 48.6 325
701 09 204 e=L7 50.7 47.5
701 18 FO&F B 32 43.3 25
701 18 FO&* g[8 426 32
701 18 FO&F £ 45 15
701 24 HOR G=t7) 54.6 22.5
701 25 O Eol 51.9 56
701 25 O a=t) 45.1 35
701 27 BROBY B 32 14 45
701 27 BEEROBEN ElE 57.2 44
701 27 BEROAEN £ 45.3 50
701 28 BEOR B 32 54.2 55
701 28 FROZR A 52.4 62.5
701 28 BEROFR g[8 38.7 56
701 29 =0 £ 59.7 52.5
701 30 B0= B > 25 fRE
701 30 BO= A 52.2 fRE
701 30 50= NS 27.7 fRE
701 30 BO0= £ 42.9 fRE
701 31 RO B 32 28.5 15
701 31 EEOZ (2 59.1 28
701 31 EEOZ a7 50.9 20
701 32 #HOom Eol 40.4 44
701 32 #HOom a7 46.7 30
702 04 Z0rE (2 425 fRE
702 11 =018 E1pYe 43.1 fRE
702 11 =08 Eol 58.8 fRE
702 11 =018 a7 56.9 fRE
702 12 EO¥: (2 57.1 64
702 13 FEOLl B 32 45.2 fRE
702 13 FRO A 44 .4 fRE
702 13 FBOliA g8 40.6 60
702 13 FBOL#A £ 52.5 fRE
702 16 Z0%5 El 58.8 48
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702 18 XOF E1pve 53.4 60
702 18 XOF A 42.3 52.5
702 18 XOF g[8 45.9 40
702 28 HOF fESE 58.1 fRE
702 28 HOF ih 38 59.5 fRE
702 28 HOF NS 47.6 fRE
702 28 HOF e=L7 47 4 R=
702 30 RO R 471 87.5
702 33 O g[8 426 32
703 02 e} £ 57.5 25
703 04 GOl £l 37.3 36
703 04 EXOL £ 43.8 15
703 05 RO fESE 56.9 fRE
703 05 RO i 38 57.5 fRE
703 05 RO NES 49 fRE
703 05 RO £ 33.1 20
703 06 RO g8 48.5 40
703 08 RO g 30.2 36
703 08 RO =7 46.6 32.5
703 12 EO Eol 57.9 36
703 12 EOR a=t) 51.9 40
703 14 BEO0= £ 59.7 55
703 15 ZEOTT a7 55.6 80
703 19 SO (2 54.7 68
703 21 HOZ% AR 43 20
703 21 WOZE (2 38 36
703 21 WOZ a7 453 30
703 23 HOZ= B 32 41.6 35
703 23 HOZE AR 43.9 52.5
703 23 HO= (2 40.7 32
703 23 HOZE NS 52.4 70
703 23 HO= £ 37.1 27.5
703 27 BEROIN B 32 43.7 80
703 28 E2O#5 B 32 50.1 25
703 28 B O e 55.2 47.5
703 28 EO#5 (2 35.7 40
703 28 BO## G=L7 55.7 17.5
703 30 FBOls Eol 56.5 fRE
703 30 FBO1ls NS 51 fRE
703 30 FBOls £ 35.7 fRE
704 02 10%= B 32 43.7 70
704 02 STO% A 36.5 62.5
704 02 TO%= g8 23.1 0
704 02 STO% fESE 495 225
704 02 ANOES G=t7) 55.5 7.5
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704 04 HOoE RS 52.3 67.5
704 04 WOo&E ih3E 59.5 67.5
704 04 HOoE NES 59.1 67.5
704 04 HWOS £ 50.4 15
704 05 HOE ElE 56.7 68
704 08 RO (2 52.9 40
704 10 RO B 2 52.2 75
704 10 RO i 37.9 62.5
704 10 [RO% g[8 40.1 48
704 10 RO £ 54.1 40
704 18 F0 el 53.9 60
704 18 F0 £ 54.3 30
704 22 %50% g[8 55.5 fRE
704 22 %50% £ 54.7 fRE
704 23 EORE B 32 54.9 70
704 23 EORE A 40.9 87.5
704 23 EORE g8 36.5 20
704 23 EORE fESE 47.3 25
704 23 EORE ih 38 57.9 25
704 23 EORE £ 52.3 25
704 27 2Z0R e 427 60
704 27 20R (2 51.5 56
704 28 20E B 32 34.7 20
704 28 2OE A 34.8 fRE
704 28 20E g[8 39.8 32
704 28 2OE fESE 52.7 fRE
704 28 20E NES 57.9 fRE
704 28 2OE £ 427 27.5
704 29 HOR e 46.2 62.5
704 30 BHOE (2 49 72
704 31 ZH ) B 32 25.5 fRE
704 31 2O R 24.9 fRE
704 31 ZH ) g[8 10.8 fRE
704 31 2O fESE 37.7 fRE
704 31 2O ih 38 55.1 fRE
704 31 2O NS 50.2 fRE
704 31 ZEOT) G=L7 40.4 R=
705 07 MO Eol 52.7 60
705 07 O E=x7) 47 1 27.5
705 08 HOM £ 56.9 30
705 10 E O El 55.7 24
705 10 O £ 54.7 375
705 11 BROEE FESR 49.9 70
705 11 FROEE NS 55.4 70
705 11 BROE G=t7) 54.1 37.5
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705 14 BROZ= Bl 53.3 60
705 14 fRO%= £ 55.9 77.5
705 18 TOfE g[8 443 16
705 18 TO# £ 50.5 77.5
705 27 5RO¥) g[8 429 32
705 27 5RO%] TS 45.9 45
705 27 5RO¥) ih 38 59.3 45
705 27 5RO%] £ 51.1 27.5
705 30 =05 E1pYe 52.8 30
705 30 =05 A 32.3 60
705 30 =05 g[8 35.3 fRE
705 30 =05 fESE 425 fRE
705 30 =05 ih 38 55.9 fRE
705 30 =05 NS 52.8 fRE
705 30 =05 a7 45.9 25
706 02 I O%& £ 49.9 fRE
706 03 %018 a=t) 58.7 35
706 07 FFOZE £ 56.4 27.5
706 11 %0 Eol 56.2 fRE
706 11 %0 FESE 55.1 fRE
706 11 %0 3B 54.1 fRE
706 11 %0 £ 56.7 30
706 14 Z2 O a7 53.3 50
706 15 BOo £ 50.9 35
706 19 S TOfm g[8 58.9 60
706 19 S T1Ofm £ 51.9 375
706 21 S0RE TS 47 1 47.5
706 21 S0E ih3E 50.9 47.5
706 21 S20= NES 55.8 47.5
706 21 S0E £ 48.8 30
706 23 MOs £l 427 20
706 23 MOE FESE 55.7 25
706 23 MOg ih 38 49.3 25
706 23 NOk £ 56.1 325
706 28 O ) 55.1 30
706 29 =0% fESE 54.2 67.5
706 29 =05 NS 53.6 67.5
707 03 Z0E Eol 44 1 48
707 03 Z0E FESR 54.2 70
707 03 Z0E ih3E 54.4 70
707 03 Z0=E G=L7 49.1 27.5
707 09 FHOE (2 415 24
707 09 ES{OF= TS 55.3 fRE
707 09 FHOE i 38 57.7 fRE
707 09 $0x= G=t7 51.5 30

FA4H  HI5H




11282552 SHE=Z s

4k JRESR e HHE BRI/ WEDE
707 12 BEROER Eol 57.9 36
707 14 SEOYURF £ 57.1 52.5
707 26 BEROX g[8 45.4 56
707 26 RO £ 54.1 30
707 29 BOZE g[8 35.2 44
707 29 EOZ= £ 54 27.5
707 31 O Eol ] 47 1 32
707 31 OB fESE 56.7 55
707 31 O ih 38 54.3 55
707 31 #OE) £ 50.3 45
707 32 #Oal g[8 36.6 36
707 32 BHO5Y fESE 53.7 27.5
707 32 HOAN 138 50.1 27.5
707 32 #Oal £ 452 27.5
708 01 FOiA a7 58.4 42.5
708 03 FOB £ 51.9 325
708 04 RO G=t7) 54.8 52.5
708 06 2O Eol 443 36
708 06 OB fESE 445 50
708 06 2O ih3E 50.7 50
708 06 OB NS 52.1 50
708 06 2O £ 39 0
708 07 Z0E g8 448 44
708 07 H0E fESE 50.3 55
708 07 Z0E ih 38 49.1 55
708 07 H0E NS 56 55
708 07 Z0E a7 415 12.5
708 10 =058 £ 56.3 25
708 12 EO0Z% g[8 49.9 36
708 12 ZOX FESE 56.2 55
708 12 EO0Z% ih 38 55.8 55
708 12 ZOX £ 453 325
708 16 HORE ElE 57.4 44
708 16 HORE fESE 51.5 57.5
708 16 HORE 138 52.7 57.5
708 16 HORE NS 58.9 57.5
708 16 HORE a7 43.9 22.5
708 20 Z0R B T 46 40
708 20 Z0R g[8 49.1 44
708 20 Z0R fESE 43.3 55
708 20 Z0R ih 38 48.3 55
708 20 Z0RL NS 54.2 55
708 20 Z0R a7 36.1 25
708 24 SROZE (2 56.8 28
708 24 ROZE fESE 57 5

FESH HISH




11282552 SHE=Z s

4k JRESR e HHE BRI/ WEDE
708 24 ROZE 3B 54.6 5
708 24 SROZE NS 57.7 5
708 24 ROZE a7 48.8 30
708 28 Lo fESE 36.2 57.5
708 28 ZOE ih 38 55.2 57.5
708 28 Lo NS 52 57.5
708 28 ZOE £ 455 17.5
708 29 =08 B 32 435 50
708 29 =08 AR 57.3 55
708 29 =08 (2 335 36
708 29 =08 fESE 43.1 57.5
708 29 =08 ih3E 47.9 57.5
708 29 =08 NES 51 57.5
708 29 =08 £ 36.7 17.5
708 30 203 G=t7) 55.1 52.5
709 02 IIOFF B 32 55.9 5
709 02 AOFF AR 56.5 fRE
709 02 IIOFF fESE 50.9 45
709 02 AOFF ih 38 46.1 45
709 02 IIOFF NS 52.7 45
709 12 EO#9 g[8 53.6 40
709 12 EO# fESE 50.6 45
709 12 EO#9 ih 38 55.2 45
709 12 EO# NS 53.8 45
709 12 EO#9 a7 56.4 fRE
709 18 BO0S (2 53.4 fRE
709 19 5RO B > 53.8 fRE
709 19 5RO A 54.7 fRE
709 19 5RO g[8 46.7 fRE
709 19 5RO fESE 422 fRE
709 19 5RO ih 38 47.8 fRE
709 19 5RO NS 46.2 fRE
709 19 5RO a7 51.2 fRE
709 29 EOIR Eol 50.7 92
709 30 FBOlE El 57.1 fRE
709 31 s OF iy (2 55.3 20
709 31 HOE fESE 47 4 45
709 31 OE ih3E 44 45
709 31 Mo# NS 452 45
709 31 MOH& £ 56.5 35
710 13 BOo% fESE 50.6 40
710 13 BEOF ih3E 45.2 40
710 19 HOE Eol ] 57.5 72
710 22 SBOE B 32 53.2 fRE
710 22 SBOE AR 49.9 fRE
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710 22 SBOE Bl 50.3 fRE
710 22 SBOE fESE 54.3 fRE
710 22 SBOE ih 38 42 1 fRE
710 22 SBOE £ 58.9 fRE
710 23 RO g[8 50.7 52
710 24 5RO (2 52.7 72
710 25 ZBOIR E1pYe 49.8 fRE
710 25 ZROIR i 52.5 fRE
710 25 ZBOJR g[8 48.7 32
710 25 ZROIR fESE 56.9 475
710 25 E{O) 138 44.9 47.5
710 25 ZROIR NS 57.9 475
710 29 =04H aE 46.9 fRE
710 29 =04H (2 435 fRE
710 29 =04 fESE 59.9 fRE
710 29 =04H i 38 49.3 fRE
710 29 =04 a7 54.3 fRE
710 34 MOJB R 46.8 fRE
710 34 MOJE El 49 fRE
710 35 ZOHE B 32 52.5 fRE
710 35 oz g[8 29.9 48
711 06 HOWT (2 48.5 fRE
711 06 BOW fESE 57.1 60
711 06 HOWT ih3E 51.1 60
711 08 B O3 ElE 55.2 48
711 08 RO fESE 52.9 55
711 08 BER O ih 38 58.7 55
711 09 FROZ B 32 52.7 50
711 09 BROE AR 429 90
711 09 FROZ (2 49.8 48
711 13 | [OXni B 32 52.3 45
711 13 2101% R 45.1 87.5
711 13 2l0fF g[8 46.6 40
711 13 2101% fESE 53.4 25
711 13 | [OXni 138 33.4 25
711 13 2l0fF £ 59.3 27.5
711 22 ROt E1pYe 56.5 30
711 22 RO R 495 90
711 22 RO el 48.9 28
711 22 RO fESE 53.6 375
711 22 RO ih 38 50.8 375
711 22 RO £ 56.5 325
711 23 RO%E fESE 40.4 55
711 23 RO ih3E 24.8 55
711 23 RO%E NS 38.4 55
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711 23 RO%E 44 475 20
711 24 SROB fESE 54.4 fRE
711 24 sROBL ih 38 50.4 fRE
711 25 BRO& A 43.3 80
711 25 BRO& £l 53.9 fRE
711 25 BRO& fESE 58.3 fRE
711 25 BRO& ih 38 52.5 fRE
711 27 BROF B 32 51.2 45
711 27 BROFT e 55.6 90
711 27 BROF fESE 53 50
711 27 BROH ih 38 50.6 50
711 28 =084 B 32 46.5 fRE
711 28 =013 g[8 55.7 fRE
711 28 =084 fESE 48.7 fRE
711 28 =013 ih 38 49.7 fRE
711 28 =084 NS 443 fRE
711 28 =013 a7 56.6 fRE
711 30 150 B 32 51.3 45
711 30 1508 AR 36.9 85
711 30 1505 (2 43.3 44
711 30 1508 fESE 448 60
711 30 150 ih3E 31.6 60
711 30 1508 NS 54.2 60
711 30 150 £ 54.9 25
712 02 FOiE fESE 57 65
712 02 FOrs ih3E 52.8 65
712 09 HOWE fESE 52.3 50
712 09 HOWR ih3E 39.1 50
712 12 ZOH FESR 50.5 50
712 12 ORI ih3E 35.9 50
712 12 = O G=t7) 58.3 27.5
712 15 B0 Eol 58.4 32
712 15 EOH FESR 54.9 62.5
712 15 B0 ih3E 44.7 62.5
712 16 BOE E1pYe 56.4 60
712 16 fBOfE R 38.1 67.5
712 16 fBOE g8 54.3 20
712 16 fBOfE fESE 44 65
712 16 BOE ih 38 34 65
712 16 BOfE NS 56.4 65
712 16 FEOE G=t7) 50.3 27.5
712 22 o) B 32 46.5 80
712 22 ERO#E HEE 33 37.5
712 22 o) (2 56.2 40
712 22 ERO#E fESE 47 1 22.5
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712 22 o) 3B 32.9 22.5
712 22 ey NS 58.5 225
712 22 o) a7 56.7 25
712 25 SROIE A 41.4 725
712 25 sROIE FESR 40.3 52.5
712 25 SROIE ih3E 36.5 52.5
712 25 sROIE a7 56.2 32.5
712 26 2RO, £ 57.9 25
712 29 =0 TS 51.1 50
712 29 =0 ih3E 421 50
712 30 =08 fESE 55.4 52.5
712 30 =08 ih3E 42.8 52.5
713 07 RO FESR 55.6 47.5
713 07 ROZ ih3E 52.6 47.5
713 11 2O fESE 50.3 40
713 11 2O ih3E 37.7 40
713 15 #HO® fESE 56.3 77.5
713 15 HOH ih3E 49.9 77.5
713 21 HOE El 59.3 44
713 21 HOEE fESE 53.3 52.5
713 21 HOR ih 38 39.7 52.5
713 29 E[OFT] FES2 56 55
713 29 2J0%E ih 38 49.2 55
713 29 E[OF] £ 58.9 375
713 30 20T fESE 53.2 50
713 30 2OF ih3E 48.4 50
714 01 FOE FESR 57 67.5
714 01 FO&E ih3E 43.8 67.5
714 02 Fon £l 59.9 48
714 02 For fESE 443 475
714 02 Fon il 36.1 47.5
714 02 Fon £ 59.7 fRE
714 06 EO HEE 31 62.5
714 07 BROE TS 56.9 425
714 07 BROTE ih 38 48.9 425
714 07 BROE £ 59.9 35
714 08 fROIE FESR 52.1 57.5
714 08 fEOIE ih3E 40.3 57.5
714 15 ZEOMS BES 51.5 57.5
714 15 ZEONS ih3E 37.7 57.5
714 15 ZEOMS G=L7 52.9 R=
714 19 %08 A 37.5 87.5
714 25 EOX fESE 53.1 fRE
714 25 E0X i 38 455 fRE
714 26 0% g 455 75
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714 26 0¥ fESE 52.6 65
714 26 O] ih3E 36.4 65
714 26 0¥ G=t7) 57.8 40
714 27 OB fESE 56.4 67.5
714 27 O] 138 46 67.5
714 29 =ZO0l& B T 48.9 fRE
714 29 =O0lE e 29.4 30
714 29 =ZO0l& FESE 40.1 40
714 29 =0Il& ih 38 30.7 40
714 29 =ZO0l& NS 48.9 40
714 29 =O0lE G=t7) 52.5 27.5
714 31 B 0¥ B 32 48.4 fRE
714 31 B 0¥ aE 43.3 fRE
714 31 Z 0¥ (2 59.2 12
714 31 B 0¥ fESE 46.2 27.5
714 31 B 0¥ ih3E 28.8 27.5
714 31 B 0¥ NS 49.2 27.5
714 31 B 0¥ £ 50.7 fRE
714 33 CE{0])57 e 445 R=
714 33 8203 FESE 45 47.5
714 33 B2OR% ih 38 35.6 47.5
714 33 8203 NS 55.8 475
714 33 B20% a7 54.6 fRE
715 04 Z0E £ 51.3 325
715 06 YO58 g[8 47.9 32
715 06 SLO58 fESE 53.5 67.5
715 06 YO58 ih 38 453 67.5
715 06 YO58 NS 59.5 67.5
715 06 SLOE G=L7 47.6 30
715 10 NE[OES (2 53.2 44
715 10 NE[OES fESE 56.3 47.5
715 10 NE[OES ih3E 50.5 47.5
715 10 SBOZE G=t7) 55.4 37.5
715 18 Fo® £ 58.9 40
715 20 RO#3 £l 52.8 56
715 22 ZF0% B 32 50.5 30
715 22 Z0% AR 39.6 fRE
715 22 Z0% (2 27.6 24
715 22 Z0% fESE 442 57.5
715 22 ZF0% ih3E 22.4 57.5
715 22 Z0% NS 47.2 57.5
715 22 ZF0% £ 37.3 30
715 25 BEROM G=t7) 57.9 325
715 30 EOo% B 32 495 20
715 30 EOfh e 46.4 45
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715 30 EOfh ENE 32.1 20
715 30 EOo% fESE 43.6 55
715 30 EOfh 138 26.6 55
715 30 EOo% NS 43.6 55
715 30 EOfh G=t7) 36.3 17.5
716 05 RO B 32 58.7 55
716 05 5RO AR 49.8 fRE
716 06 RO B > 58.6 50
716 06 RO e 42.7 R=
716 09 =0 £ 55 fRE
716 15 EEOH TS 56.9 67.5
716 15 EEOQH ih3E 415 67.5
716 15 EEOHE G=t7) 51.4 37.5
716 20 ZO#f B 32 58.1 50
716 20 Z0#f e 51 70
716 20 ZO#t fESE 53.5 52.5
716 20 ZO#f ih 38 43.1 52.5
716 23 =OMR B T 46.3 20
716 23 =OR AR 45.6 62.5
716 23 =OMR FESE 52.1 40
716 23 =OR ih 38 46.1 40
716 23 =OMR £ 49.9 325
716 25 2801A B 32 47 1 30
716 25 Z801A R 48.7 70
716 25 2801A g[8 58.4 48
716 25 2801 fESE 49.1 55
716 25 2801A ih 38 50.9 55
716 25 2801h £ 59.3 27.5
716 26 BEROFR fESE 48.5 fRE
716 26 FROZR i 38 443 fRE
716 26 BEROFR a7 473 fRE
717 03 AHO0E FESE 54.3 70
717 03 AH0E ih 38 50.1 70
717 14 O fESE 52.9 55
717 14 O 138 46.5 55
717 21 S0F A 36.1 fRE
717 21 S0F fESE 55.1 72.5
717 21 S0F ih3E 51 72.5
717 26 ZEOR= B 32 49 40
717 26 =OR A 42 fRE
717 26 EOR= 7 54.5 30
717 26 =OR ih3E 55.4 30
717 28 LE(O) E1pY4 48.5 20
717 28 HHOR A 39.1 725
717 28 LE(O)E TS 44.9 27.5
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717 28 LE(O) 3B 42 27.5
717 28 HHOR £ 55.9 45
718 01 Z0% B 32 50.9 50
718 01 0% A 51.6 75
718 01 Z0% g[8 50.6 40
718 01 0% fESE 50.7 57.5
718 01 Z0% ih 38 447 57.5
718 01 0% £ 56.9 325
718 02 Z0%F g[8 45 28
718 02 Z0%F fESE 50.3 62.5
718 02 Z0%F ih 38 40.8 62.5
718 02 Z0%F £ 52.3 375
718 04 MOZE g[8 56.5 52
718 04 MOZT fESE 59.2 57.5
718 04 MOZE 138 52.7 57.5
718 04 MOZE £ 56.7 20
718 06 RO fESE 443 47.5
718 06 BROsM ih3E 31.7 47.5
718 06 RO NS 52.7 47.5
718 06 BROSM £ 54.5 45
718 15 201 B 32 51.5 65
718 15 208 fESE 54.6 57.5
718 15 201 ih 38 37.7 57.5
718 15 208 £ 46.6 30
718 20 BOF g[8 32.2 40
718 20 BOF fESE 53.6 60
718 20 BOF ih 38 41.8 60
718 20 BOF £ 55.1 325
718 24 EOjR E1pYe 55 55
718 24 207 A 48.1 85
718 24 EOjR El 58.9 52
718 24 207 fESE 52.6 725
718 24 EOjR ih 38 422 72.5
718 24 EOiR £ 55.2 25
718 25 04 B 32 29.2 30
718 25 HO%4m R 30.4 30
718 25 04 g8 20.1 0
718 25 HO4m fESE 36.3 0
718 25 FHO4m ih 38 16.7 0
718 25 HO%m NS 49.3 0
718 25 04 a7 39.6 0
718 26 FFOlE Eol 36.9 52
718 26 FFOts FEsh 54.9 62.5
718 26 FOtg ih3E 427 62.5
718 26 FFOts NS 55.1 62.5
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718 26 FFOlE ) 57.1 52.5
719 03 FOE (2 48.5 48
719 03 FOE fESE 54.1 60
719 03 FOE ih3E 44 4 60
719 03 FOE a7 58.3 50
719 04 SO0 (2 57.4 48
719 04 S0 fESE 53.3 62.5
719 04 SO0 ih3E 50.3 62.5
719 04 S0 a7 53 50
719 05 =[0)4 fESE 475 25
719 05 =[0):4 ih 38 47.2 25
719 05 =[0):4 £ 57.6 25
719 07 HO fESE 52.4 65
719 07 HOTT ih3E 44.7 65
719 07 HOLT a7 54.9 20
719 08 RO Eol 34.8 28
719 08 RO FESR 57.4 57.5
719 08 RO ih3E 43.4 57.5
719 08 RO a7 54.9 35
719 12 2OE (2 40 20
719 12 2OE fESE 443 25
719 12 OB ih3E 35.5 25
719 12 205 a=t) 55 35
719 15 E2ORE (2 38.4 24
719 15 20 fESE 46.5 17.5
719 15 E2ORE ih3E 36.6 17.5
719 15 20K G=L7 54.2 27.5
719 20 S0k ih3E 49.1 60
719 23 MO el 48.5 64
719 30 HORE B 32 48.1 55
719 30 HOR= e 51.3 42.5
719 30 HORE ih3E 32.6 425
719 30 HO= G=t7) 42.3 25
719 32 #OR (2 41.1 32
719 32 RO G=L7 49.7 45
720 06 El{e)==t (2 54.3 32
720 06 ZfOE ih 38 35.8 50
720 06 El{e)==t NS 50 50
720 06 ZfOE a7 52.6 30
720 07 fEOZ (2 38.5 52
720 07 RO a7 50.9 fRE
720 13 BOX ih3E 44.7 62.5
720 13 O a7 59 20
720 19 5014 £ 442 fRE
720 21 Z=0/8 ih 38 23.3 70
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720 21 Z0/8 NS 50.9 70
720 21 Z018 £ 453 325
720 28 sROZ AR 39.7 20
720 28 RO (2 38.9 36
720 28 sROZ, ih 38 42 1 47.5
720 28 RO £ 41.1 225
720 30 BOE AR 42 4 80
720 30 BEOE (2 28 0
720 30 BOE fESE 58 30
720 30 BEOE ih3E 22.8 30
720 30 BOE NES 41.8 30
720 30 BEOE £ 40.3 20
720 32 B0 g[8 58.1 60
721 10 RO (2 56.3 44
721 13 =01 el 59.6 20
721 13 =01 ih3E 49.8 40
721 13 =01 a7 52.8 fRE
721 20 508 ih3E 51.1 60
721 20 208 G=t7) 58.9 17.5
721 23 MOLE (2 59.7 48
721 23 MOLE G=L7 53.4 R=
721 28 FFO=F ih3E 427 70
721 28 FFO&E NS 54.1 70
721 28 FFO&E £ 54.9 10
722 19 S0k ih 38 48.5 52.5
722 19 S0E NS 54.3 52.5
722 19 S0k £ 52.5 25
722 22 MO%E (2 59.9 44
722 22 MO ih 38 51.7 62.5
722 22 MO £ 425 25
722 23 MOTH G=t7) 54.9 37.5
722 25 HHOE £ 59.9 40
722 26 FEOE G=L7 53.2 40
722 28 5ROML ih3E 46.5 55
722 28 5ROML NS 57.1 55
722 28 5ROANL £ 46.9 30
722 29 EOH a7 52.1 32.5
722 31 2105 ih3E 48.3 62.5
722 31 2108 a7 54.6 30
722 34 EOS B 32 50.9 50
722 34 EOS g 51.1 52.5
722 34 EOS (2 47.9 36
722 34 EOS fESE 59.1 425
722 34 EOS ih3E 39.1 425
722 34 EOS NS 53.5 425
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722 34 EOS E=x7) 36.1 20
723 03 MWOFF (2 58.7 36
723 03 MWOTF ih 38 455 52.5
723 03 MOLF £ 51.9 225
723 08 =0 ih 38 38.3 375
723 08 =0 NS 54.9 375
723 08 =0 e=L7 51.1 27.5
723 22 HOA B 32 51.3 50
723 22 HOK HEE 39.9 62.5
723 22 HOR (2 57.9 36
723 22 HOA a7 54.9 30
723 25 =018 £ 57.1 52.5
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